DEFENSIVE AND COMPETITIVE BIDDING

LEADS AND SIGNALS

W B F CONVENTION CARD

OVERCALLS (Style: Responses: | / 2 Level; Reopening)

OPENING LEADS STYLE

I/1=7-17HCP, 5+Cards(4+Cards OK) Lead In Partner’s Suit

2/1=10-17HCP, 5+Cards Suit Modified Slavinsky(Note2) [Modified Slavinsky(Note2)
Resp= 1/1, 2/2, 3/2=FI; 2/|=NAT/NF; Jump =Preemptive; NT Modified Slavinsky(Note2) [Modified Slavinsky(Note2)
Cuebid=3+fit inv+ or any GF Subseq Modified Slavinsky(Note2) [Modified Slavinsky(Note2)

Other:UDCA, O/E Discards, Rusinow(Note2)

Vs NT: K asks UB/CT, AQ ask ATT

CATEGORY: Green
NCBO: CHINA ‘
PLAYERS: Ma Jiayi-Zheng Tinghao-Others S léd 0

Liu Yuxuan-Yan Junwen-Others “"

EVENT (U21 Open)

INT OVERCALL (2"/4* Live; Responses; Reopening) LEADS SYSTEM SUMMARY
2nd= [5-18HCP. 4th= 12-16HCP. Response=SYS ON Lead Vs. Suit Vs. NT
Ace AKX(+), AX, AK] (+) AKX(+), AX GENERAL APPROACH AND STYLE
King AKX(+),AK,KQX,KX AKJ10(+), KQI09(+), Kx General Approach: 2/1 5542
Queen QJX(+),QX KQX(+),QJX, Qx, Q Style: Aggressive
Jack H J10X,)J10X QJX(+), HJI0X)10X,)x,) | %=]]-2IHCP, %2+, 17-19HCP Any BAL OK.
JUMP OVERCALLS (Style; Responses; Unusual NT) 10 H109,109X,10X HJTX(+),H109,109X ,10X 24&=STR2
|-Suit= Weak; After 2M jump overcall, 2NT=Relay 9 9%, 9 9%, 9 20=Multi-20, V/46+ WK; 20/="454+ PRE
2-Suit= Unusual 2NT Hi-X HxS(x), Hx, xSx, xSxx HxS(x), Hx, xSx, xSxx 26=9-|12HCP, &5&/)4+
Response= P/C ,RAISE =WEAK Lo-X HxxxS, HxS HxxxS, HxS INT=14-16HCP BAL (M5, mé OK)
Reopening Same SIGNALS IN ORDER OF PRIORITY 2 over | Resp: GF Almost.
DIRECT & JUMP CUE BIDS (Style; Response; Reopen) Partner’s Lead Declarer’s Lead Discarding SPECIAL BIDS THAT MAY REQUIRE DEFENSE
(I'm)-2%=Nat,20=7-10 or |6+HCP, /455 | Lo=Enc Lo/Hi=E O/E 20 =1st/2nd/3rd Seats= 5-10HCP, V/#6+, Pre
Response: 2NT Asking Suit 2 Lo/Hi=E Smith Count 20 =4th Seat= 9-12HCP, V/46+
JUMP CUE BIDS : Western Cue 3S/P S/P S/P 2V =1st/2nd/3rd Seats= 5-10HCP,both majors, Pre
Reopening Same I Lo=Enc Lo/Hi=E O/E 2% =4th Seat= 9-12HCP, both majors
VS. NT (vs. Strong/Weak; Reopening;PH) NT 7 Lo/Hi=E Smith Count 24=|st/2nd/3rd/4th Seat= 9-12HCP, &+m 5-4+
2%= V+854+; 20=0/06+; 2M=M5m4+; 2NT=H055; jsp S/P S/P 2NT=20-21HCP, BAL, M5 OK

3%(Va=Nat PRE

Signals (including Trumps):

3%/0/V/#=]st/2nd/3rd Seats= 5-1 IHCP, %/0/V/#6+, Pre.

Weak NT:X=Penalty; StrongNT :X=4M5m+ or Strong

Trump signals:

Hi-Low=suggesting unusual defense(or S/P)

3/0/V/#=4% Seat= Sound

3NT Ist/2nd Seats=Namyats,3rd/4th Seats=To Play witha Nice m

VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids)

DOUBLES

Western cue

Double T/O , 2NT=16-18HCP, 3NT=To Play

TAKEOUT DOUBLES (Style; Responses; Reopening)

Cue-bids asking for a stopper

Maybe light if shape on

VS. ARTIFICIAL STRONG OPENINGS- i.e. |% or 2%

Vs | [NT=8054+; [0=0/85+;17/4=M4+m5+;

SPECIAL FORCING PASS SEQUENCES

R:DBL=05+/0+#54+ G:DBL="+454+

SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS

IX-(DBL) -XX-(2Y)-P=FI, (INT)-DBL-(2m)-Pass=FI

Vs 2é: DBL=05+/V+454+; 24=C/85+;20/4=M5+m5+;

Neg dbl thru 4H

(3m)-DBL/overcall-(5m)-PASS=F unless GvR

INT=#455+

Resp dbl thru 3S

IMPORTANT NOTES

OVER OPPONENTS’ TAKEOUT DOUBLE Sup dbl |- 10/V/8 &1 O-1Vcould be 0-4HCP

IM OPENING CAP Lightner dbl 10-14 could be 0-4 HCP with 4+M if with Ofit
| -(x) [0=04+;10=44+;| 4=no 4-card major Max dbl IM-IN maybe 0-4HCP, especially with M3+ fit
[0-(x) xx=V4+;17=44+;]4=no 4-card major S.O.S rdbl PSYCHICS:rare




(V) - . »n
z | 3|98 § 5 COMPETITIVE
E 5 g z s T g:: DESCRIPTION RESPONSES SUBSEQENT ACTION &PASSED HAND
5| F g 5|z - BIDDING
EJ 2 47 |11-21HCP, %2+ 10=04+, |V=64+, | #4=No Ms, INT=13+HCP, Bal GF | &-|R;IM=Min BAL or 14-15HCP, w/M3 | %-(OC)-? Xfers Style
17-19HCP, BAL OK 2&=|3+HCP, 05+GF; 20=9+HCP, &5+, 20/8=C/458&4+6-9HCP I%-IR; INT=17-19HCP, BAL
2NT=11-13,Inv
M5332/05 BAL OK 3%=5-8HCP, #5+, Const, 30V4=WI|S 3, 3NT=13-15HCP, Nat |de-14; 20=17-19HCP BAL or 14+HCP, %504
4% /O=SA Texas Xfers, to Play 47/#;47/44=to play | do-| & 3=H)54+WK,P/C
4 47 111-21HCP, 94+,UnBAL 1V/8=F1 M4+,INT=6-11 w/o M4+, 2&=&5+ or BAL FG; 10-IM-INT=11-13 M3/15*-18 Any,Fl 10-(XI17)-2 Xfers
20=9+HCP, 04+ ; 20=45V4+6-9HCP; 24=4504+5-8HCP, 10-1M; 20M=05+OM4 GF or |16+HCP ©5+M4
2NT=11-13HCP,3%=10-12 %6+Inv; 30=4+0,Const; 3V/#= W|S3;
3NT=13-15 NAT,4%/40=SA Texas Xfers, to Play 4/#;4//4é=to play
1V/8 5 47 |11-21HCP M5+ |#=6+HCP #4+,INT=AlmostF|,2%=10-12 M3+ or I3+HCP GF IM-2NT-3%=Min, 30=m4+,14+HCP,34=
2M=6-9HCP M3-4, |V-26=46+ Const, 2NT= |OHCP+ M4+ Mini-Jacoby 3V= 14+HCP OM4+,3NT/4m=MID OM/m Spl| 2&=Re-Drury
3%=]0-1HCP, %6+, NatINV; |7-30=7-9HCP," 4, |4-37=7-9HCP, &4; IM-20-2X-30=06+,inv 20/9=5-9HCPO/V5+
18-30=07+ WK or GF; 3M=4-6HCP M4; 1V-14-INT=43, |1-13/15-17 Any,FI 2NT=7-10HCP,M4
3NT/4%/40=13+HCP M4+, SPL OM#%;4/44=SO, 4NT= Blackwood |#-INT-2=04+, |1-15/15-17 Any 3%=9-1IHCP INV
INT 47 |14-16HCP M5/mé/mlok 24=STM, 20/V=Jacoby, 2&=Ask Range or %6+ or ©6+%SPL, 2NT= 06+ INT-24-2NT=Min,3%=Max INT-(X)-? p=trans to XX
3%=5M Stayman;30=GF,%"55; 37/34=m54M SPL,GF INT-2-2X-3%=mSpl;30=MSpl XX=m5+ WK/MS5 Inv
4%/40=SA Texas Xfers, to Play 47/#;47//44=to play 2%=%#4(3),SOS
INT-(OC)-? Rubinsohl
2% v 5 4V |STR2 |7+HCP 8.5+Tricks or 22+HCP | 20=Waiting,2"//#=6+HCP,M5*+ , 2NT/3%=7+HCP\/d6+ 2%-20;2=Kokish
30/V=3-6HCP, /&7+34/NT=3-6HCP,%/8+ 24-20;37=7405+, GF 34=mb55, GF
48/0=3-6HCP, V/48+ 2%-20;3%-30=Waiting
20 v 0 5-10HCP Mé+ 2M=P/C; 2NT=Relay; 3%/0=NatGF; 3V=P/C; 20-2NT; 3%=Max;30=best or bad; 3M=Min nat] 20-(30)-DBL=INV 4M
9-12HCP in 4t Seat 3#=Nat,inv; 4%=Trans to me; 40=bid your Major; 47/4#=to Play 20-4d; 40="s; 47=ds
2V 4 5-10HCP 454+ 2NT=Relay; 3%=Xfers to 3¢; 30=Ask m SPL; 3M=M4+ PRE 2V-2NT;3%=Min 54;30=Min 55; 2V-(30)-DBL=INV 4M
9-12HCP in 4t Seat 4%/0=RKC in V/#; 4 4=to Play 3M=Max M50M4;3NT=Max 55
24 5 9-12HCP, &5#&%4+/4505 2NT=Relay; 3%=P/C; 30=76+; 37= Inv with #3+; 34=PRE 24-2NT; 3%=Min #5&4+; 30=4055
4m=Fit-showing 37=Max, #5#4+C SPL; 34=Max,45&4+7)
2NT 4" [20-21HCP BAL M5/mé/mlok 3%=Stayman, 3/V=Jacoby, 3#=mms or %6+M SPL 2NT-3% : 30=one or two M4
4%=PUP to 40; 06+ or 6+ OSPL , 40/V= Texas, 46=6+, BAL, SI V=w/o M4;34=453NT=5
3X 6 5-10HCP 6+, 10-13HCP 7 tricks in 4% | New=FI, 4NT : Blackwood,4M=play , 3%-30=ask weak suit
maybe very light if GvR 3M=Nat GF, 3M-4%=Fit, SI; 3M/%-40=Weak RKCB,30-4%=Inv 5/6
3NT v Ist/2nd Seats= Namyats, 4%= slam interest; 40=bid your Major; 4/=P/C, in |st/2nd Seats HIGH LEVEL BIDDING
3rd/4th Seats=To Play with a Nice m 4/5m/6m=P/C; 4=slam interest,4M=to play, in 3r4/4t Seats RKCB=14,03,2 No Q,2 +Q,5NT=2 no Q with void,6X=2 with Q with void
4/0 v 7 */07+,Pre 4M=to play in |st/2nd/3rd Seats Ace ask=1/4, 0/3, 2,2 with extras
4th seat: Namyats 4-Oor 40-0=8| Weak RKCB=0/2+Q,| No Q,1+Q,2+noQ, | No Q+Void,|+ Q+ Void,
474 7 Pre Nat EXCLUSIVE RKCB=The same as Weak RKCB
DI1P0, DOPE
ANT v 8 * 08+, to Play 5m, Sound 5#=P/C, 50= RKCB Optional RKCB: 5m=WK, 50m/M=0dd/Even w/o Q/Even+Q




Note I:

Note 2:

Note 3:

WBF Standard Card

Supplementary Sheet

Opening rules:

| #%opening promise 2+%, and 5332 can be taken as a balanced hand and may open | %, even 5V/#-332.
| Yopening promise an unbalanced hand, 5+ or 4441, but on 3rd/4th seat maybe balanced to call for lead. INT=11-
I3HCP when we are green(except 3rd seat, NONE), 14 -16HCP when we are red or 3rd seat NONE. Preempts
maybe very light when we are green, but when we are red , usually 7-10HCP and constructive.

Leads:

(1) Usually we lead 0/] from honors, but we lead rusinow when:

(a) Defending 5,6,7 level contracts;

(b) Defending no-trump contracts, leading from a suit with 4 or more cards.
When we lead rusinow, we lead the smaller one from equivalent honors. Defending high -level contracts, leading A dening K;
Defending no trump, A could be from AK, K is asking UB or CT, or from KQX, which is 0/1 leading.

(2)Slavinsky

A relatively small card leading indicates having odd cards in the suit with honor, or even cards in the suit without honor.
A relatively big card leading indicates having even cards in the suit with honor, or odd cards in the suit without honor.
Besides, when against notrump contracts, we may lead the 2nd best when we don’t have honor.

We lead high with doubletons greater than 9X, and low with doubletons smaller than 8X.

The same is for subsequent defense.

Gazzilli:
We play Gazzilli in sequences below:
& IN

?

24=1) [1-14HCP, V4+; 2) I5-17HCP, any
20=11-14HCP, 4+

20=11-17HCP, 46+

24=12-14HCP, %4+

& IN

2% 20

?

20=11-14HCP, V4+7
24=15-17HCP, BAL or 45m4
2N=15-17HCP, V4
3%/30/3V=15-17HCP, NAT55
34=|5-17HCP, 5044

-

v 14
INT 2%
?

*IN=1) 11-13HCP, #43; 2) 15-17HCP, any
200=11-13HCP, 43
24=|5-17HCP, #4375
2N=15-17HCP, 4+
3%=|5-17HCP, <4+
30=15-17HCP, 6+
30=15-17HCP, semi-solid/solid ¢
34=|5-17HCP, 0544
3NT=15-17HCP, NAT



10 IM
INT pLJ
?
*IN=1) 11-13HCP, M3; 2) I5-17HCP, any
20=11-13HCP, M3
2M=|5-17HCP, M305+
20M=[5-17HCP, OM405+
2N=15-17HCP, %4+
3%=|5-17HCP, *6+
30=15-17HCP, semi-solid/solid¢6é*+
3V/4/NT=15-17HCP, semi-solid/solid¢7+d/4/¢ SPL

Note 4: After preempts (After we open I%/INT, the same)

(3m) -? (EXCEPT I#%- (30) )
4%=47/Om55+
40=70m55+

|- (30) -2
4=5+GF
40=455+
(39) -7
4m=emb55+
40=&(55+, Slam try (After we opening, =#6+)

(34) -2
44= 1) U6+ 2) V5+d4+better than 47
40=05+04+
49=TU5+d4+

44=#055+, Slam try (After we opening, =mé+)

Note 5: After |M/2M overcall

Im-(19)-? Im-(14)-?

X=44-5 X=values, not promising s

| 4=DENY 44 IN=6-12, 5+

IN=6-12, &5+ 24=0m6+INV or Om5+GF
246=0m6+INV or Om5+GF 2 6+INV or V5+GF
20=Inverted minor, M4 OK 2V=Inverted minor, M4 OK
20=46+INV or #5+GF 24=4&fit in m, CONST
24= 4&fitin m, CONST 2N=mmb54+, fitshowing

2N=mmb54+, fitshowing

| #-(27)-2 | #-(24)-2
X=4#4-5 26=DENY X=INV+
a4 2N=T6+INV or 5+GF
2N=#6+INV or #5+GF 3‘?=¥¢6+|NV or O5+GF
3%=06+INV or 5+GF 30=#5+GF
30=#5+GF 30=U6+, WK
30=a6+, WK 34=40-1, mm54+GF

34=70-1, mm54+GF

10- (204) -3%=04+, TP or GF, Others=same as above

Note 6: Transfer responses after %s overcall

| #-(2%)-2
20/9="/45+, CONST or GF
24=05+, INV+

OIV=C146+ INV or O/#5+GF 28=Inverted
minor, M4 OK



| - (3%)-2
30/V/4=C[6[05+, INV+

10-(3%)-2 Nat

IM-(2%)-?
20=0Mé6+ INV or OM5+GF
2M=M3, nat NF
20M=06+INV or ©5+GF

[ V- (3/4de) -2
30=V3+ Const/GF
4< +, TP
37/47=45+ GF
34/44=05+ GF

& (3d/4d) -7

30=U5+ GF
3V=43+ Const/GF
40=43+ TP
34/44=05+ GF




